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*LS 44k
AP FEERPA RIS TR
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P \K
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EARTCRTIE S RBRFRA ¥ R
¥ S6>5% » k=0.5
¥ S0=3.0%~5.0% » k=0.4
¥ S=1.0%~3.0% » k=0.3
¥ So<1% » k=0.2
£ 47 ¥ 2575 4
BokE | B | fimEz | 3L BAEO | HAEe ki
LA kTl | (m) ) (%)
(m)
B 65.00 3.00 2.65 4.62 0.4
A | By 65.00 3.00 2.65 4.62 0.4
B i 65.00 3.00 2.65 4.62 0.4
B o 93.00 4.00 2.46 4.30 0.4
B g 93.00 400 |2 246 4.30 0.4
i 93.00 4007 | 246 4.30 0.4
B g 8.00 .90 6.42 11.25 0.5
Cl | By~ 800 [ 0.90 6.42 11.25 0.5
Bt 8.90%25;( 0.90 6.42 11.25 0.5
B g \)9;3’.’(;0 ’ 0.90 6.42 11.25 0.5
2 | mEe %6800 0.90 6.42 11.25 0.5
k2t 7t 8.00 0.90 6.42 11.25 0.5
3
*C S

AppBgFwe L LEAZ T4 C=005;
Bae k@ C=1.0;
Bt EpEssr C=0.10-

*P i

Ay B P=0.5;
B TPk 2 4R P=1.0;

B s gk 2 R AJER BHE 4 P=0.5 -
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EAFCRAE Y RORFRA ¥ B AR
#4-8 Bga ¢ s oGt eE

gok% | mEu | Rm | km |1s | ¢ | p | Am |72E
(t/ha) | (m’/ha)

g | 19462 | 0.03876 [ 0.713 | 0.05 |0.50| 13.45 9.61
A B | 19462 | 0.03876 |0.713 | 1.00 | 1.00| 537.87 | 384.19

B fs | 19462 1 0.03876 [0.713 | 0.10 | 0.50 | 26.89 19.21

B | 19462 | 0.03876 [ 0.783 | 0.05 [0.50 | 14.77 10.55
B B P | 19462 [ 0.03876 | 0.783 | 1.00 | 1.00 | 590.73 | 421.95

B s | 19462 | 0.03876 (0.783 | 0.10 | 0.50 | 29.54 21.10

B o | 19462 | 0.03876 1 0.837| 0.05 | 0.50 | 15.79 11.28
Cl B P | 19462 | 0.03876 | 0.837 | 1.00 [1.00 | 631.53 | 451.09

B s | 19462 | 0.03876 | 0.837| 0.10 | 0.50 | 31.58 22.56

B o | 19462 | 0.03876 | 0.837| 0.05 | 0.50 | 15.79 11.28
C2 B P | 19462 | 0.03876 | 0.837 | 1.00 [1.00 | 631.53 | 451.09

B s | 19462 | 0.03876 | 0.837| 0.10 | 0.50 | 31.58 22.56

4-5-3 3k g QQ?X{Y

g A 4-8 rin i 2

4 t%iv“éé%ﬁ?fﬂ%% E LR

RE AR ERTL S ﬂ%’?ﬁéﬁr FEz 2R BERA L L 4
9 975 o @,
7
249 BT ¢ s éﬂ%{d\%:}%’*,ﬂ IR
R E t%‘fma ARk R | AR AP
Bk | B X REE F2FRTE | AARENIREE
(m>/ha/yr) (m*/ha/yr) (m>/ha/yr)
B3 9.61 30 30
A | B¢ |384.19/2=192.10 250 250
B3 i 19.21 30 30
B g 10.55 30 30
B |B#¢ | 421.95/2=210.98 250 250
B3 i 21.10 30 30
B g 11.28 30 30
Cl |B% ¢ | 451.09/2=22555 250 250
B3 i 22.56 30 30
B g 11.28 30 30
C2 | B# ¢ | 451.09/2=225.55 250 250
B i 22.56 30 30
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